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Please check whether you have got the right question paper.

1) All question are compulsory.

2) Use black and blue pen only.

3) Use pencil for diagrams.

4) Use of any signs, attracting attentions is prohibited.
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Q1 A) Fill in the blanks (attempt all) 05

1) The share of agriculture sector in India's Gross Domestic Product (GDP) in the
financial year 1950-51 was

2) 'Intensive Agricultural District Programme was planned in the year,

3) led to a significant increase in agricultural production.

4) Agricultural mechanization during the green revolution led to a decrease in the

level of
5) There is no personal income tax burden in the sector in the Indian

economy.
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B) Answer in a sentence (attempt all) 05

1) Which was the first country to start contract farming?

2) Where is working "The central Research Institute for dry land agriculture”.

3) In 1957, 'The food grain Inquiry Committee' was appointed under whose
chairmanship?

4) When was the 'National food Security Act implemented in India?

5) According to whom, there is inverse relationship between land size and land
productivity?
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A) Explain concept/terms/Units/events. (any two) 10

1) Food security

2) Public distribution system
3) Agricultural subsidy

4) Price stability.
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B) Attempt in short. (any two):

1) Discuss the under employment.
2) Which are the different methods of irrigation in Indian agriculture?
3) State the benefits of contract farming.

4) Write How the agriculture sector can help to remove unemployment.
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Q3 Answer in detail. (any one): 20

1) Describe the causes of low agricultural productivity in India and suggest

measures to increase agricultural productivity.
2) Write the nature and kinds of rural unemployment and explain the causes of

rural unemployment.
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